Home-work assignments IV:

98/1-6; 98/9-11; 98/ 15-19;  99/27-31;

101/1-8; 100/35-38;  100/40-43;

100/46-47 ; 100/53 ; 100/55; 101/10-17; 101/22

Exercise I.:

                 If we consider no air resistance, calculate how fast the apple should be launched in Newton’s thought experience to orbit the Earth, if the launching spot is Mount Everest (approx. 9km  height). After how much time will the apple complete a full rotation? (Mass or the Earth is: 5.98 x 1024 kg; Radius of the Earth is: 6370 km). 

Exercise II.:

                       A geosynchronous satellite orbits the Earth at an altitude of 36 000 km. What is the altitude of a satellite which has an orbital period which is two times bigger? What is the speed of this second satellite, and how does this compare with the speed of the geosynchronous satellite? (The radius of the Earth is: 6370 km)













